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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer sheet.

41- My mother is a writer. Her new book is ... in bookstores all across Iran.
1) impossible 2) probable 3) available 4) ancient
42- A: “Hello, how much is a T-shirt?”
B: “Hi, T-shirt prices ... from brand to brand. In fact, they ... from $10 to $100.”
1) range — vary 2) vary — set 3) set —range 4) vary —range
43- 1 don’t think I’ll be able to come to her birthday party because I have a big project to complete. ... , I don’t
really like parties.
1) But 2) Besides 3) Despite 4) Next to
44- My mother got a serious illness at the age of 40 because she was a worker in a chemical factory and always
forgot to ... the danger area at work.

1) keep off 2) take out 3) come back 4) take off
45- The company says it is unable to ... the workers’ needs for shorter working hours or higher wages.
1) make 2) look 3) stick 4) meet

PART B: Reading Comprehension
Directions: In this part of the test, you will read a passage. The passage is followed by four questions. Answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

First language, also known as mother tongue, is generally the language a person learns first. However, one can
have two or more native languages and be a native bilingual or indeed multilingual. The order in which these
languages are learned is not necessarily the order of proficiency. Not having enough first language skills often
makes learning other languages difficult. Studies have shown that cognitive development as well as intellectual
development is comparatively faster in those who are fluent in their mother tongue.

A child often learns the basics of his or her first language or languages from his or her family. Indeed, native
language is the language which a child starts hearing after being born and thus, it also helps in providing a
definite shape to his or her emotions and thoughts.

The term mother tongue, however, should not be interpreted to mean that it is the language of one’s mother. For
example, in some paternal societies, the wife moves in with the husband and thus may have a different first language
or dialect than the local language of the husband. Yet, their children usually only speak their local language.

46- What is the best title for this passage?
1) Mother Tongue
2) Bilingualism or Multilingualism
3) Who Can Be a Better Language Learner?
4) The Order of Language Learning
47- Which of the following words or phrases is NOT defined in the passage?
1) Native language 2) Paternal societies 3) Mother tongue 4) Multilingual
48- It can be concluded from the passage that ...
1) one cannot be a native speaker of more than two languages
2) very few children throughout the world learn to speak two languages
3) it is possible for a bilingual to be better at his or her second language
4) only a few people learn to speak their mother’s language like a native
49- What does the word “their” in the last line refer to?

1) societies 2) father and mother 3) children 4) languages
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50- According to the passage, first language skills ... .
1) play an important role in learning a new language
2) are not transferable to the second language
3) can also have negative effects in learning foreign language
4) can aid children only in the beginning stages of learning a second language

PART C: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the
correct choice on your answer sheet.

(aly) ol; Q,a}T

51- To increase the quantity and quality of the products, all machines in the production lines must be serviced ... .

1) honestly 2) fortunately

3) rudely 4) frequently
52- I’ve been called for a/an ... for a manager job in an oil company.

1) communication 2) century

3) interview 4) ceremony

53- The village was completely deserted, and there was no ... of life in it.

1) host 2) power
3) sign 4) site
54- The factory is going to be closed because children between the ages of 12 to 16 ... almost half of its workers.
1) turn off 2) give up
3) fall down 4) make up
55- Although she made almost all the audience bored with her speech, she made some interesting ... .
1) choices 2) points
3) phrases 4) feelings

PART D: Cloze Test
Directions: Questions 56-60 are related to the following passage. Read the passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Mary: What exactly are you afraid of, Adele?

Adele: Actually, my worst fear is speaking in a ...(56)... language.

Mary: How come?

Adele: You know! Imagine a situation that you want to make a conversation with some foreigners. As their
language is not your mother tongue, you may probably fail to ...(57)... effectively with them! I mean it’s
somehow difficult to develop an understanding when you are not completely ...(58)... with a language.

Mary: I see. But there are ways to overcome your fear and improve your speaking ...(59)... . You can talk to
foreigners, ...(60)... to the news, or you can watch movies.

Adele: I like watching movies! I think I can work on it!

56- 1) foreign 2) native 3) favorite 4) popular

57- 1) explain 2) exist 3) enjoy 4) communicate
58- 1) neat 2) familiar 3) upset 4) brave

59- 1) ability 2) activity 3) age 4) appearance

60- 1) try 2) translate 3) listen 4) attack
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